# DISCRETE MATHS (Q 6 & 7, PAPER 2)

#### 2011



## 6 (b) (ii)

 $u_{n} = 30(2^{n})$   $\therefore 2(4)^{n} - 2(2)^{n} = 30(2)^{n}$   $2(2^{2})^{n} - 32(2)^{n} = 0$   $2(2)^{2n} - 32(2)^{n} = 0$   $2(2)^{n}[2^{n} - 16] = 0$   $[2^{n} - 16] = 0 \Longrightarrow 2^{n} = 16$   $2^{n} = 2^{4}$  $\therefore n = 4$ 

6 (c) (i)

	n(E) = Number of desired outcomes	#(E)
	$p(L) = \frac{1}{T}$ Total possible number of outcomes	#(S)

There are 13 diamonds in a pack of 52 cards.

On the first pick there are 13 diamonds to pick out of 52 cards.

Once a diamond is picked, there are 12 diamonds to pick from 51 cards on the second pick. And so on.

p(Diamond, Diamond, Diamond, Diamond) =  $\frac{13}{52} \times \frac{12}{51} \times \frac{10}{49} \times \frac{9}{48} = 0.00050$ 

## 6 (c) (ii)

p(5 diamonds or 5 hearts or 5 clubs or 5 spades)= 0.0005 + 0.0005 + 0.0005 + 0.0005 = 0.002

## 6 (c) (iii)

Work out the probability of picking the 5 cards in a particular order and then multiply your answer by the number of ways of arranging the 5 cards as they could have been picked in any order.

p(Ace of diamonds, two of diamonds, three of diamonds, four of diamonds, five of diamonds)

 $= \frac{1}{52} \times \frac{1}{51} \times \frac{1}{50} \times \frac{1}{49} \times \frac{1}{48} \times 5! = 0.00000038$ 

# 6 (c) (iv)

Work out the probability of picking the 5 cards in a particular order and then multiply your answer by the number of ways of arranging the 5 cards as they could have been picked in any order.

p(Ace of diamonds, Ace of hearts, Ace of clubs, Ace of spades, Any card)

 $= \frac{1}{52} \times \frac{1}{51} \times \frac{1}{50} \times \frac{1}{49} \times \frac{48}{48} \times 5! = 0.000018$ 



SOLUTIO

7 (a) (i)

Number of teams =  ${}^{12}C_4 = 495$ 

 $\begin{array}{ccc} 7G & 5B \\ \downarrow \\ 4 \, Places \end{array}$ 

The number of selections of n different objects taking r at a time  $= {}^{n}C_{r}$ 

#### 7 (a) (ii)

How many teams can you pick with boys only?

No. of boys only teams =  ${}^{7}C_{0} \times {}^{5}C_{4} = 5$   $\downarrow$   $\downarrow$   $\downarrow$ 0 Places 4 Places

Therefore, the number of teams with at least one girl = 495 - 5 = 490

**7** (b) There are 16 ways for the marble to start at A and reach the bottom.



7 (b) (i) A-B-E-H, A-C-E-H

**7 (b) (ii)** A-B-D-**H**-M, A-B-E-**H**-M, A-C-E-**H**-M A-B-D-**H**-N, A-B-E-**H**-V, A-C-E-**H**-N

There are 6 ways the marble passes through **H**.

There are 6 ways the marble passes

through **J**.

A-B-E-J-N, A-C-E-J-N, A-C-F-J-N A-B-E-J-P, A-C-E-J-P, A-C-F-J-P

p(Marble passes through H or J)  $= \frac{12}{16} = \frac{3}{4}$ 

**7 (b) (iii)** A-B-D-H-N, A-B-E-H-N, A-C-E-H-N A-B-E-J-N, A-C-E-J-N, A-C-F-J-N

There are 6 ways the marble lands on **N**.

p(Marble lands at N) =  $\frac{6}{16} = \frac{3}{8}$ 

7 (b) (iv) A-C-F-K-**P**, A-C-F-J-**P**, A-C-E-J-**P**, A-B-E-J-**P** 

There are 4 ways the marble lands on **P**.

There are 16 ways in total for the marble to start at A and fall to the bottom.  $p(A \text{ marble landing at P and then another marble landing at P}) = \frac{4}{16} \times \frac{4}{16} = \frac{1}{16}$ 

$$7(c)$$
Numbers  $a, b, c$ 
Mean  $\mu = \frac{a+b+c}{3} \Rightarrow (a+b+c) = 3\mu$ 

$$\overline{x} = \frac{x_1+x_2+\dots+x_n}{N} = \frac{Sum of the Numbers}{Number of Numbers} = \frac{\sum x}{N}$$

$$\overline{x}$$

$$\overline{x} = \frac{a+b+c}{3} \Rightarrow (a+b+c) = 3\mu$$

$$\overline{x} = \frac{x_1+x_2+\dots+x_n}{N} = \frac{Sum of the Numbers}{Number of Numbers} = \frac{\sum x}{N}$$

$$\overline{x}$$

$$\overline{x} = \frac{x_1+x_2+\dots+x_n}{N} = \frac{Sum of the Numbers}{Number of Numbers} = \frac{\sum x}{N}$$
where deviation  $d = (x-\overline{x}) = (Number - Mean)$ 

$$T(c) (i)$$
Numbers:  $\frac{a-\mu}{\sigma}, \frac{b-\mu}{\sigma}, \frac{c-\mu}{\sigma}$ 

$$= \frac{a-\mu+b-\mu+c-\mu}{3\sigma}$$

$$= \frac{a-\mu+b-\mu+c-\mu}{3\sigma}$$

$$= \frac{a-\mu+b-\mu+c-\mu}{3\sigma}$$

$$= \frac{3\mu-3\mu}{3\sigma}$$
Standard Deviation  $= \sqrt{\frac{(a-\mu)^2 + (b-\mu)^2 + (c-\mu)^2}{3\sigma^2}}$ 

$$\frac{x}{\sigma} = \sqrt{\frac{a-\mu}{3\sigma^2} + \frac{b-\mu}{\sigma^2} + \frac{(c-\mu)^2}{\sigma^2}}$$

$$= \sqrt{\frac{(a-\mu)^2 + (b-\mu)^2 + (c-\mu)^2}{3\sigma^2}}$$

$$= \sqrt{\frac{(a-\mu)^2 + (b-\mu)^2 + (c-\mu)^2}{3\sigma^2}}$$